4.0

3.5

Call transform_halogen and chemistry ctl

time (years)

1e9 (with no call to asad_trimol) only
0 0.5 1.0 1.5 2.0 2.5

NOy

NO

NO3
NO2
N205
HO2NO?2
HONO2
HONO
PAN
PPAN
MeONO2
ISON
MPAN
NALD
BrONO2
CIONO2
N

3.0




3.54

Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

3.52f

3.42}

3.4%.0

0.5

1.0

1.5
time (years)

2.0

2.5

3.0




mass (Gg, as N)

2.7

2.6

2.5

2.4

2.3

2.2

2.5.

Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

HONO?2

0.5

1.0

1.5
time (years)

2.0

2.5

3.0




0.10

0.09

0.08

mass (Gg, as N)
o
o
~

0.06

0.05

0.06.

Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

—e N205

0.

5 1.0 1.5 2.0
time (years)

2.5

3.0




0.0000040
0.0000035
0.0000030
0.0000025
0.0000020
0.0000015
0.0000010

0.000000.'E)

Call transform_halogen and chemistry ctl

+1.249e-3

(with no call to asad_trimol) only

0.5

1.0

1.5
time (years)

2.0

2.5

3.0




Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

IONO?2

0.5 1.0 1.5 2.0 2.5 3.

time (years)

0




mass (Gg, as N)

Call transform_halogen and chemistry ctl

(with no call to asad _trimol) only
0.030 . . T = .

0.025 -

0.020 -

o—e HO2NO2

0.015f 4

0.010 -

0'006.0 0.5 1.0 1.5 2.0 2.5 3.0

time (years)



Call transform_halogen and chemistry ctl

(with no call to asad _trimol) only
0.00045 . . T = .

0.00040

0.00035

0.00030 .

0.00025

I

HONO

mass (Gg, as N)

0.00020F -

0.00015

0.00010

0'OOOO'IE').O 0.5 1.0 1.5 2.0 2.5 3.0

time (years)



mass (Gg, as N)

0.025

0.020

0.015

0.010

0.005

0.00%

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

ISON

0.

5 1.0 1.5 2.0 2.5
time (years)

3.0




Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

0.02478 T

0.02476

0.02474

= 0.02472

0.02470 MeONO?2

mass (Gg, as N

0.02468

0.02466

0.02464

024 ' ' '
0.02454 5 0.5 1.0 1.5 2.0 2.5 3.0

time (years)



mass (Gg, as N)

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

0.020 . '

0.015} |
0.010} MPAN
0.005} |
00085 0.5 1.0 15 2.0 2.5 3.0

time (years)



Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

NALD

0.5

1.0

1.5
time (years)

2.0

2.5

3.0




mass (Gg, as N)

1.6

1.4

=
N

=
o

o
e")

o
o

©
N

0.2

0.(8).

le—-8

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

0.5 1.0 1.5 2.0 2.5
time (years)

3.0




mass (Gg, as N)

Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

0.30

0.25

0.20

0.15

0.10

0.05

0.0%.

NO2

1.0

1.5
time (years)

2.0

2.5

3.0




mass (Gg, as N)

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

0.34 T

0.32 -

0.30 -

0.28F -

0.26 -

e—e NO3

0.24F .

0.22f -

0.20F -

0.18F -

0'1%.0 0.5 1.0 1.5 2.0 2.5 3.0
time (years)



mass (Gg, as N)

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

0.0005 T
'T

0.0004

0.0003

0.0002

0.0001

0.000%. l\‘ — ". ------ '. ------ la o a aaa .. ------ .. .....

time (years)



0.2805

0.2800

0.2795

0.2790

0.2785

mass (Gg, as N)

0.2780

0.2775

0.277%

Call transform_halogen and chemistry ctl
(with no call to asad_trimol) only

PAN

0.5 1.0 1.5 2.0 2.5
time (years)

3.0




mass (Gg, as N)

0.00095
0.00090
0.00085
0.00080
0.00075
0.00070
0.00065

0.0006%

Call transform_halogen and chemistry ctl

(with no call to asad_trimol) only

PPAN

0.

5 1.0 1.5 2.0
time (years)
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